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Section : General Intelligence and Reasoning

Q1 = ghor = GwmifRa R & FER PQ W @ T @, @9 e o g & gt # fAe wd
grafye gafaa &3l

Ans

X 3.

Question ID : 65497843597

Status : Answered

Chosen Option : 2




Q.2 m%ﬁmﬁﬁﬁmﬁﬁmﬁ@aMﬁuWﬁg(?)ﬁMW
|

58, 67, 83, 108, ?
Ans X 1.139
X 2.157
/03,178
4. 144

Question ID : 65497841971
Status : Answered
Chosen Option : 4

Q.3 3fe '@ @1 o wiig B, %' 1 o U B, ¢ BT 3k UnT B, OfR # P71 orf werw B, 7t
oI BT HIF I HIfoTE|

23 @105$15% 6#29
Ans X 1.23

 2.36
X 3.40
X 4.28

Question ID : 65497841976
Status : Answered
Chosen Option : 2

Q.4 fau T BT R fArpul &) HAYd® US| g 9 8T % U A < 1S wHeR 9 B,
yd g 98 AT U A 7rd a2t | e wela g 8, @ 38 1% e e el § & o4-
1R Forerd =T 1 a1fhe T A SITHRI Al 8P 8

DY:

aft awmes, efi €1
TO R, TGS ¢
forepd;

1. 7O I8, ueft 81

II. B Uel, TES g
. J9f @, Tes B

Ans . 1.%qdq B | SR Il TR B T
X 2. Pad [SHY |1 TRV HAT B
2 3. Had sHY | SR 111 SIER0 R B
X 4. Fad By | SR IR 5

Question ID : 65497841969
Status : Answered
Chosen Option : 1




Q.5 TR H&R-TgE 3T e g, o | i ol 7 fordft 0 & o € ofiR U e 8139
SR SHER-TYE BT T BT

Ans X 1.BEG
X 2.L0Q
7 3.GIM
X 4. Twy

Question ID : 65497842567
Status : Answered
Chosen Option : 3

Q8 oz 3w A, B, C, D, E R F vw o & Rftew wowl W By ge 1 vw & o f o ufdar s
7% ¥ 97 ¥R 9 S °C IR T ToF F Rl wew W e

Ans 1, F

Question ID : 65497844401
Status : Answered
Chosen Option : 3

Q.8

Q.7 afe A Sile B, B U B, C "UCHT $I SR D "HIT B giaT ¢, df Frafiad aise &1

= fera=T ghm?

66 A (132D 12)C (4 A3)B (15D 5) A 16 B (-3)

Ans X 1.56

K5 2.6
X03.10
/4.8

Question ID : 65497843591
Status : Answered
Chosen Option : 4

Ans

T FAif3d @ ytw &, afg ESTEEM @Y HYWHHP & w0 # forar sirar €, ot St @e v &
DOCTOR & fhey w4 # ferar simam?

1. FQEVQT
«” 2. GRFWRU
X 3.GRGVST
25 4. HSGXSV

Question ID : 65497844628
Status : Answered

Chosen Option : 2




Q9 37 R @1 T HY Swd & 7 sy wheaRe ¥ (gEW F aERy )

O

Ans

<1

@&

X< 4
<

Question ID : 65497842586
Status : Answered
Chosen Option : 2

Q10 o7t & 37 T=w & TTF H HEH G F HGY BT A0 3T 3G @R T T & g 4w §)

X e, feme, afew

v 2. 3EFAT, Afga, RITRIr
X3 pFigeny, &7 U9 9w, sieed
X 4. AIST, HTEEN, T

Question ID : 65497844306
Status : Answered
Chosen Option : 2




Q11 39 U faped o1 Ta9 S ot 19 T 70 Ik 3 e aifbe o arefyuf s & quifar 21

13518
2.q1gHEd
3.3¢IIUS
4948
5.3THTRT T/IT

Ans X 1.1,3,4,52
2.1,4,2,5,3
X 3.1,4,2,35
X 4.4,3,521

Question ID : 65497844634
Status : Answered
Chosen Option : 2

Q.12 tew g ¥ RS oo W og HeT D, d, E, e, F 3l f Ry aw 1 3w o #r o Rl Rard
¢ ¥1 3T 3R T TUF W S D 3R I Bel o g Bee WX EeT]

Question ID : 65497841979
Status : Answered
Chosen Option : 4

Q.13 I ey BT 997 B S SR =T | I ThR Tl 2 S gt TS Ugelt e |
Heiftra & ok oo} den vid Ten A Hafta 21
21: 112 :: 36: ? :: 51: 272
Ans X 1.252
7 2.192
X 3.198
X 4.72

Question ID : 65497844396
Status : Not Answered
Chosen Option : --




Q.14 @a%q%ﬁmﬁﬁa?ﬁwgﬁqﬁﬁuﬁ@aMﬁuWﬁg(?ﬁmww
I

3,11,31,69,131, ?
Ans X 1.198
X 2.163
< 3.152
7 4.223

Question ID : 65497842576
Status : Answered
Chosen Option : 4

Q.15 fr=ifesa g o1 eargde siegas o ok faw e fawedt & & I Hen &1 991 ¥ o
T vy g (?) & I W 31 Wbl B

128100
18 6 111
1547

Ans X 1.102
X 2.78
7 3.62
X 4.108

Question ID : 65497842580
Status : Answered
Chosen Option : 3

Q.16 3H&RT & ST HAISH BT I B il &I T3 JTan § e R R HiAE T F 7@ FH 0
sigen B guf B
g_o_dk_m_f_o_kk_gfo_d_km
Ans X 1.fokgodfok
 2.fokgodmok
S 3.fokgodmom

S 4.fokdodmok

Question ID : 65497844631
Status : Answered
Chosen Option : 2

Q.17 T fAf3a o ar # 'ROUBST HI 61 % U H Heds fovar wirar g1 It urar &
'FORTUNATE' & %9 Heds fbdT SITem?

Ans X 1.124
2. 114
X 3.142
X 4141

Question ID : 65497844388
Status : Answered
Chosen Option : 2




Q18 Frrifere ampferdli & #1011 & v g F His T FH AR T g FAIS A Fed 7 ada R
T ¥ AT FOTS W W HET Bem?

Ans

Question ID : 65497844406

Status : Answered

Chosen Option : 1




Q.19 uw fAf3d oe ¥, 6218 &7 31 'Laptop is a computer' § 3R 8217 &1 31 ' Computer is a
machine’ %I ‘Machine makes our life easy’ % ferg FaffRa ¥ o ﬁwarmfm

faa smem?
Ans X 1.75894

X 2.76834
25 3.58795
4. 75344

Question ID : 65497842571
Status : Answered
Chosen Option : 4

Q.20 'A+B' TS g A B Il

AsB ISR A BETUR

'A@B FTAIZH A BHTUE §

‘A&B BT fF A B AR

'A% B' BT 3 & fF 'A, B BT SeT 2

AR W@S%K$G&U&T@R+C' g, @ Frafuled § § o9 W sy 98t 22
Ans /1.G,RIIHIZI

X 2.C,UPITA I

X 3.C, KPTTER QI
K 4.G,WF gl

Question ID : 65497843583
Status : Answered
Chosen Option : 1

Q.21 I [IPeq BT 99T B o Y U U S UPR el 2 S g1 Ug Ul Ug 9 Waika 8
I

HARMONY : BMLGUDK :: RESOLVE : ?
Ans . 1. VEOIVHU

X 2. EVOJHVU
X 3. OVEJUHV
X 4. VOEIUVH

Question ID : 65497844285
Status : Answered
Chosen Option : 1

Q.22 waﬁﬁaﬁq&ﬁr&mwnaﬁﬂaﬁaﬁiz,ooouﬁfﬁﬁ%lgﬂﬁl&@waﬁwaaﬂ
2,500 B 3fX Afgar Rierel &1 sita 31 21,200 &1 f gou Rgmp! $t Gwim 16 7,
Pioel | AfgaT RI&mp! ST €S F1d Bife|

Ans X 1.12

/2.10
X 3.18

K 414

Question ID : 65497844296
Status : Answered
Chosen Option : 2




Q.23 T T fawenl & 9 SH seR-T4g &I g ol Fafifad saar & wears g (2) $t
AT B gpar 2
RSX, NQW, JOV, FMU, ?
Ans .7 1.BKT

X 2.DKS

X 3.CJs

X 4.BLT

Question ID : 65497841959
Status : Answered

Chosen Option : 1

Q.24 ftwHEARTK, L, M, N, O, P, Q, R 3R S ®rafaa # te Wit ufda & qd fazm & e
ARTE P AS B O, M P A AWM VMWL K, P T8 IR ”FA R Q Sid P
IMRSFTAHAZIN,MP A NI WA WRLIP,NF P A TS H IR, 0 F IR 1Y

T R g1 Al & @ o9 @ sy wdt a8 82
Ans 1.1, 0% 1 R RIFM R IaT 3

X 2.Q, K I RH R I8

K 3. RIANSTRWIS &I

XK 4. 0BPKARNF T H TG

Question ID : 65497843584
Status : Answered
Chosen Option : 1




A
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- IS *|® -
* - A
A ® *
Ans
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. [ _
-
* 4
X2 ®
-
* h
X3 S
®
A %*
X4 @
-

Q.25 Ru o et F ¥ 3w gl @ AEE WU S e gEer § s e (?) & B ) OH g6

Question ID : 65497843594
Status : Answered
Chosen Option : 1

Section : General Awareness

SRIFrH 99 ST 2
Ans 7 1. TCUfd

X 2. gyt
X 3. dIhHT S{ee
X 4. RISl

Q.1 HHE P I Fe-l gRT uTRd g MY ERTHgHAN & 91¢ B3 [AUgH TG F1

Question ID : 65497844428
Status : Answered
Chosen Option : 1




Q2 fFufifEd § A s e uadhda 7 22
Ans 1. TG

X 2. Ry

X 3T

K4 TG

Question ID : 65497843611
Status : Answered
Chosen Option : 1

Q.3 3w Tdemr 2020-21 F VR, faw af 2021 F A U A ema@d __ 9%
firTae om P IFAG 21

Ans 7 1.11.3%
X 2.82%
& 3.6.3%
X 4.54%

Question ID : 65497844310
Status : Not Answered
Chosen Option : --

Q4 fraferad § @ si=-d Yifde uf, siee aru/fHear & fog g2
Ans 1. QDI

X 297

X 3.9 7

X 4.9 gan

Question ID : 65497844315
Status : Answered
Chosen Option : 1

Q.5 W YR =M (SBM) W5 HRd A& P URT B+ & g wgre st & grgiwifer &
Todaf_ w3 fear
Ans X 1. 2016
2. 2014
X 3. 2017

X 4. 2015

Question ID : 65497842596
Status : Answered
Chosen Option : 2




Q.6 W(Ferrum),_ﬁaﬁqmél
Ans X 1. ST
X 2. Fed
7 3. @l
X 4. didT

Question ID : 65497841989
Status : Answered
Chosen Option : 3

Q7 R YRa A T g F IR A PR i Y s w s I @2
Ans X 1. U T BT A1 Tep UiRieg ISl & ATH TR T 717 T
o/ 2. FHM T & ST 3 SAfa & d<rol HH ST Y forEeh TH OR 7015 BT A1 1 T |

X 3. sl SIR Afgamsit & 90 1 B fdarg & &F oiliem ot S o
X 4. wfgansll 3 2rdl & §1a (U fOd1 & 75 Bl §RbR @l

Question ID : 65497841999
Status : Answered
Chosen Option : 2

Q8 fmfiied § A $H-91 T 9o ygus T8 82
Ans X 1. RIS

X 2. DIty

X 3.7

4. eue

Question ID : 65497844317
Status : Answered
Chosen Option : 4

Q.9 FrafRad #f @ S99, YR I UgdT TIRad Toie 82
Ans 7 1. HEIT TeIC 2021-22

X 2. D4R §eiC 2018-19

X 3. Bd §eIC 2019-20

X 4. e §9IC 2020-21

Question ID : 65497843604
Status : Answered
Chosen Option : 1

Q.10 IEM GGG 9% & AN |
Ans X 1.6

X 2. R

7 3. 8@

X 4.4g

Question ID ;: 65497842604
Status : Answered
Chosen Option : 3




Q.11 Us ity urfior o §, RAWeR PIRWT__ @il
Ans X 1.20%

7 2.50%
X 3.60%
X 4.40%

Question ID : 65497844410
Status : Answered
Chosen Option : 4

Q.12 iy thre fRauef iR didds dosaend & §
Ans X 1. Hfgar g

7 2. 9o IRbedrd

X 3. Hfgel glebl

X 4. 9% didiald

Question ID : 65497844331
Status : Not Answered
Chosen Option : --

Q.13 Rifeea ¥ WER B ofty goi a1 91 o & A @ oft 9 e 21
Ans 7 1. il

X 2. IR
X 3. ARR
X 4. 359

Question ID : 65497841985
Status : Not Answered
Chosen Option : --

Q.14 YRA $ WRAYH o7 g ifder & ufvad B @ uitear gamar 21
Ans X 1. 351

X 2. 374
X 3. 342
4. 368

Question ID : 65497842612
Status : Answered
Chosen Option : 4

Q.15 ¥ve ¥ o fadaet & vl o, FrafafEa & @ w19 w1 Sy Taa 82

Ans X 1.9g $ad Ue HAT gRT U o o1 Fhan g, 7 b Ua el 9aw gl
X 2. AHgHT ISTgH B oft 77 T 1 ey ) TR a1 SRATPR X Idhat 8
X 3,30 Fad dreaHr J 9 fHar o g g1
4. TSI GRT SRAIBR AT W= a1 5 Fehel g1

Question ID : 65497843621
Status : Answered
Chosen Option : 4




Q.16 fafaf@a # § S ST TeTHTd F ATTHATIDT 82
Ans X 1. AETHR TN gt

X 2. wgredt guf

X 3. TiaTe R RT

7 4. SRR YIS

Question ID : 65497843617
Status : Not Answered
Chosen Option : --

Q17 1932 PI I Y Heren it eiR & i uo wwsiiar 4l
Ans X 1. 91d TIER foere

X 2. S RfaA

X 3. SRIsE iy

o 4. SIS SAESHR

Question ID : 65497844424
Status : Answered
Chosen Option : 4

Q.18 @RI ¥ S| THF | VIS BT UIdis T g1 82
Ans X 1.+1

K 2.0
3.2
K 4. -1

Question ID : 65497843609
Status : Answered
Chosen Option : 3

Q.19 g ¥e fegdr e Iu=ard & & feem ferar 82
Ans X 1. fogel s

7 2. U, WhIe RIS

X 3. gR ol

2 4. U g

Question ID : 65497844426
Status : Not Answered
Chosen Option : --

Q.20 91 FEE- I UG, HISe TRRE Bl Had ______ & U U ST o1 ATl
Ans X 1. 0@ VI

< 2.9® IX

7 3. Uld XV

X 4.9 Xl

Question ID ;: 65497841996
Status : Not Answered
Chosen Option : --




Q.21 Z WIESH (Two Lives)’ ATHS G H/B! AQH/AIDT I 82
Ans X 1. T WA

N ZACELE )

X 3. sr%yfa g

X 4. gurofd

Question ID : 65497844326
Status : Not Answered
Chosen Option : --

Q22 TraR Wy ____ I F Aeia T g
Ans X 171G

7 2. SBUTd Y=

X 3. fesr

X 4. 3G

Question ID : 65497842590
Status : Answered
Chosen Option : 4

Q.23 HYe Y SEEIT THF §RT HHIerd Yt & UK, 2015 ¥ 2020 % 9
SRS | 44% P gfg & AU AT o1 e doil A TeA aren weT Bl

Ans X 1. DS
A 2. SR
/3. HAURH
K4

Question ID : 65497842603
Status : Not Answered
Chosen Option : --

Q.24 , 5d ) T8t Pl (relative clarity) 3T AT 21
Ans X 1. HOIRET

7 2. Sfdadn
X 3. Tl
X 4. Suad

Question ID : 65497844415
Status : Answered
Chosen Option : 2




Q.25 He YR TROR GRI BN TTET BT P forg fasha RePR 2019 § TwTE fovan
T AT

Ans 1 BI®!
X 2. dRemh
XK 3. WD
X 4. fAmsSh

Question ID : 65497842007
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q.1 3z §ad 98 deur Fi o &, fomd 126, 224 3t 608 w g o 9 Quwer FAw 2, 7 A 19
e grar §?

Ans x4 21
X2 27
3 31
~ 4. 37

Question ID : 65497844333
Status : Answered
Chosen Option : 3

Q.2 o gEeER A 24,600 F wH A= AR 21,800 F v Fuff GEN IF AT F 10% oy R FH Fr 6%
T R AT § T wfeg Iw A RS

Ans 3
X1 71—1“
X2 8
3 gl
8

X416

Question ID : 65497843631
Status : Answered
Chosen Option : 3

Z

Q3 (2 + L) =28 F T x> 0§ & (¢ + L)F A= H

A1S 1110

X2 140
X3 -140
X4 =110

Question ID : 65497844446
Status : Answered
Chosen Option : 1




Q4  Srwifeg R =1 wuona #Y 3R 3§F & R 0 WS # 56 8

|

€3

y

.

& ol (TH)

o

3450 & S Aol arer sfRe Fr T wEa awr 3660 AR swH 0w A Aol Ao sfde
$r Fw wEA F DT 7 R e 2

Ans X1 4
X210
3. 5
x4 8

Question ID : 65497842639
Status : Answered
Chosen Option : 3

Q.5 fear srr i = wiwr wpell F Remntat @ sl s Ao Tl e F wsel A s &
IS T

15 wE AT AT F 3eTAa Y AR FHF T O T 797 FT 3/ &

TR C # wwe @ HE L wge E O ouihdl 1 W § e R §7
Ans X1.4:3

vz 3.4

X321

X4 1:2

Question ID : 65497844354

Status : Answered
Chosen Option : 2




Q6 afy sec?o +tan®s =3%, 0°< 8 < 90° &, & (cosd+sing) & AT s ¥ farEer auet 27
Ans 1+5

<1
B

1+v5
3

25
3

X 2.

3.

K 4 9 +2 \"%
6

Question ID : 65497844451
Status : Answered
Chosen Option : 3

Q.7 o g9 a4Bc # 7 & AT AB, BC 3R AC = mAW: gt P, Q it R ©T w9 dwar &1 7 AB -
BC = 4 cm, AB - AC = 2 cm, 3 AABC & 9AIT = 32 cm §, & AC (cm #) &r sars 7T

Hie|
X1

Ans

w|g

<2

w|g

1

s3 =

35
4. =
K 3

Question ID : 65497842629
Status : Answered
Chosen Option : 3

Q.8 v arg Fr FAa 20% FH g A §1 TR o, WEd 1360 F 2 kg 3OF avg @y wwd § a5
T 9Rfs 7w (2 #) 9T kg 9 Fifow

Ans X1 38
X2 48
3 45
X440

Question ID : 65497842014
Status : Answered
Chosen Option : 3




Q9 10 m 3R 17 m = Ty & T, T & wRa & AT % FURT (bottom) % & H g 24 m
¥ 37 O & 9 H gl (m #) I

Ans x4
225
X3 27
X430

Question ID : 65497844449
Status : Answered
Chosen Option : 2

Q.10 Gu=ifrg ax =& 2014 ¥ 2019 o & W F9t A 3t B & ardifera ot & gwar & aar g
WE FT A HeTqa H AR 38 aig fGT 710 5ot 71 3¢ &

EZDM#MWWWWAWB#WBF&WM
5
- . 230
E 0 2:0 i
7”0

E 180 &l @ 180

160 | 150

— 140 = [
' s M ‘ \
o ’ [ ‘ |
; U U L |
< U L L ul |
B 018 615 2016 2007 3013 mie
E ¥

u THT R A mR B

2014, 2016 3K 2017 & &7 A F SHTHa O &1, 2015, 2018 3T 2019 & &9 B & aAmiea o=t ¥
e e 17

Ans 113 : 18
X215 : 22
X318 113
X422 :15

Question ID : 65497843042
Status : Answered
Chosen Option : 1




Q11 10 cm sfemat Y TR U & Tk Bow § 4 om AW W U HUIIAIRR I5ET Sel S §1 99 S
FTET SFFA (cm? H) T RS
7r=2_]—: EnEdl

Ans 1
X1 7135

3

2. 75—
7

4

X3 900-—
’ 7

4
X4 112=
7

Question ID : 65497843434
Status : Answered
Chosen Option : 2

Q12 v qov, v AR AR TR T3 T wE @ FA 3, 4 AT 12 RET F 9U = wed §1 38 w8
@ oA & qU aXa & v Ban ag w939 AR vk ARen #1 wgrgar e aige?

Ans 5 g 2]
/25
X3 4
X4 7

Question ID : 65497843634
Status : Answered
Chosen Option : 4

Q.13 332,000 Fr TN FARF YR | TFge™ A A T 20% TIRF R R 9 7T 7 fraed T ) @
FTE?

Ans  X'1. 30,876
v2. 37,044
3. 32,000
X4 35,087

Question ID : 65497842623
Status : Answered
Chosen Option : 2




Q14 o qtb—c=53R ab—bc—ac=10 &, & &+ b+ 37 == 7T BT

Ans 1 g
X2 40
X315
X4 45

Question ID : 65497843637
Status : Answered
Chosen Option : 1

Q15 g Fart P ik Q & 9 & 8% & ¥ 3% ol & 3eaad ST FAe 45° siw 60° §( P sk Q @
FATE H OIS 41 82

Ans X131
V2 1143
X31:3

K4~1/§: 1

Question ID : 65497844352
Status : Answered
Chosen Option : 2

Q.16 3
46+70f32— 6
3 FT AT F4T 27
37 —70f(34+6)
Ans
X1, %
7
s o 24
7
sq Ok
7
64
A —
3

Question ID : 65497844334
Status : Answered
Chosen Option : 4




Q.17 ; A _ z i
e A =60° %, ar B °°SA+17::;§ fan” Al T AT AT Y
Ans 1 3
X210
X3 5
<415

Question ID : 65497843644
Status : Answered

Chosen Option : 1

Q18 magr a2y Fwr 234a5b FF AT, I 22 & sy &, 9T 5 ¥ R A6 &

Ans X1 234751
V2. 234652
X3 234058
X 4. 234850

Question ID : 65497842009
Status : Answered

Chosen Option : 2

Q19 v gEmER B g % Afea HEd W 28% 9 ge & § AR T sl 30% & ot wAEer & 3Ry
3% Irg P fnfr X ¥39.90 = o e B, & Teg o1 difed Apw (ereaw @ aF Joiifee) wa §7

Ans 1. 240
X2173
X3 133
X 4. 200

Question ID : 65497842821
Status : Answered
Chosen Option : 1

Q.20 93 39T HR FT 30 km, 45 kmth & T T TN § AT I 1 6 20 fAme F fow 98 5@ 51
kmth &1 =1 & Fenen &) 98 T & e 3R siwd T (kb #) I RS

Ans 1, 485
V2. 49
X3 48
X4 47

Question ID : 65497843426
Status : Answered
Chosen Option : 2




Q21 sABC #, <A %1 wRefaserw BC W g D o fAerm &)1 afy AB = 9.6 cm, AC = 11.2 cm 3K
BD = 4.8 cm &, @ AABC &1 9ftAM™ (cm #) &1 gem?

Ans X 1. 286
V2 31.2
<3 304
X4.32.8

Question ID : 65497843642
Status : Answered
Chosen Option : 2

Q.22 oy sl A4.P ik Q @ 39 & &% #)1 g7 Rig A 3N B W vfosde & &1 PA &1 g1 3R
ag= W TE g & C 3t D Rigait ox e 1 3y £CPB-100° §, & x W AT A HifSw

Ang ?20
v 2.100
X3 110
X4 115

Question ID : 65497842024
Status : Not Answered
Chosen Option : --




Q.23 fxzr ar AR W 2015 A MG TR G2t (TV) 81 FEw (@) #) 3R 9T Iroer-arenT Suit
A, B, C, D X E gamr 2015 & = 71w &=y Wt & wieRid & wefiia e ¥

WME F CAATF HTIT L AT 36 A T e W F: sew

w 5
53 a

@
i)
i

~
@
T

(RTINS
2

————

s 5 8
T
L
|

v oo
& 83 sz
@
4
| 4J
£
Ju-
8
S
w
8

AT TeTae B (TV) 7 FETT(ETR #) 3R I AT F %

2015 F &9 A Z@ 39 a1w &t Wel & WA F, F B @R A% AT &6y deF f gEm ¥
IS e 87

Ans 1.5 : 8
X24:5
X36:5
X45:4

Question ID : 65497843143
Status : Answered
Chosen Option : 1

Q.24 & weaat F1 der 08 ¥ afy Teel TEmr W aEl & s 2 ¢ 3 ¥ AR gud vew & Gl sw
¥ 3T 50 8 B, & el www Wi W

Ans ;148
<2 30
X3 20
K4 49

Question ID : 65497844440
Status : Answered
Chosen Option : 1

Q.25 e @ urr Fr R F 56 km F1 gl 3.5 W A q@ R wRh §1 B o A nw Fr = aiw
ORT H A F TS 3 1§ T urw F ww F 41.6 km B gl 77 T F Reew ww
(st #) Qefr?

Ans K115
X218
v 2.6
x4 2.1

Question ID : 65497844443
Status : Answered
Chosen Option : 3




Section : English Comprehension

Q.1 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Every Saturday, / the workers gets / their weekly wages.
Ans 7 1. the workers gets
25 2. Every Saturday
25 3. No error
£< 4. their weekly wages

Question ID : 65497842034
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Which movie have you watched on television when I called you?
Ans X 1. did you watched
</ 2. were you watching
< 3. No substitution required

/< 4. are you watching

Question ID : 65497844156
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate ANTONYM of the given word.

Exonerate
Ans X 1. Exempt
</ 2. Engage
25 3. Absolve
25 4. Acquit

Question ID : 65497842659
Status : Answered
Chosen Option : 2

Q.4 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The contrast between / Britain and other countries / of Europe / are striking.

Ans X 1. The contrast between
£< 2. Britain and other countries
25 3. of Europe
</ 4. are striking

Question ID : 65497842643
Status : Answered
Chosen Option : 4




Q.5 Select the most appropriate meaning of the given idiom.
Cool as a cucumber

Ans 7 1. Calm and composed

25 2. Irritated and annoyed

% 3. Happy and excited

25 4. Nervous and fidgety

Question ID : 65497842054
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate synonym of the given word.
Squawk
Ans X 1. Suggest

25 2. Explore
«/ 3. Scream

/< 4. Connote

Question ID : 65497844475
Status : Not Answered

Chosen Option : --

Q.7 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

This TV channel has a larger viewership from another channel.
Ans 7 1.than any other channel
< 2. No substitution required
2% 3. from any other channel

£5 4. from the other channel

Question ID : 65497842047
Status : Answered
Chosen Option : 1

Q.8 Select the most appropriate option to fill in the blank.
You will find it difficult but later you will get used to wearing a mask.
Ans 7 1. atfirst
25 2. at the first

£ 3. firstly
25 4. on first

Question ID : 65497843675
Status : Answered
Chosen Option : 1




Q.9 Select the option that expresses the given sentence in indirect speech.
Ajay says, “There is going to be a snowfall.”

Ans 7 1. Ajay says that there is going to be a snowfall.
25 2. Ajay says that there was going to be a snowfall.
/5 3. Ajay said that there is going to be a snowfall.
X 4. Ajay said that there was going to be a snowfall.

Question ID : 65497842652
Status : Answered

Chosen Option : 1

Q.10 Select the most appropriate synonym of the given word.
FINAL

Ans X 1. Allowed

25 2. Forbidden

25 3. Former

«/ 4. Concluding

Question ID : 65497844373
Status : Answered

Chosen Option : 4

Q.11 Select the most appropriate meaning of the given idiom.
A hair in the butter

Ans X 1. Aslippery road

25 2. Easy to handle

25 3. Sinking in debt

v 4. A challenging situation

Question ID : 65497842661
Status : Not Answered

Chosen Option : --

Select the part that contains the error from the given options.

It has / been raining / since / two hours.
Ans X 1.lthas
o/ 2. since
< 3. been raining
< 4. two hours

Q.12 The following sentence has been divided into parts. One of them contains an error.

Question ID : 65497844460
Status : Answered
Chosen Option : 2




Q.13 Select the option that expresses the given sentence in passive voice.
Who is creating this mess?

Ans 7 1. By whom is this mess being created?

< 2. Who has created this mess?

% 3. By whom this mess being created?

25 4. By whom has this mess been created?

Question ID : 65497844463
Status : Answered
Chosen Option : 1

Q.14 Select the correctly spelt word.
Ans X 1. Convect

£5 2. Conect
</ 3. Convert
25 4. Concent

Question ID : 65497844482
Status : Marked For Review
Chosen Option : 3

Q.15 Select the option that can be used as a one-word substitute for the given group of
words.

One who can read and write
Ans X 1. lliiterate
X 2. Eligible
< 3. lllegible
7 4. Literate

Question ID : 65497844480
Status : Answered
Chosen Option : 4

Q.16 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

In spite of my niece’s dog Casper is very mischievous, he is lovable.

Ans X 1. Nevertheless my niece
< 2. However my nieces
25 3. No substitution required
«/ 4. Although my niece’s

Question ID : 65497844371
Status : Answered
Chosen Option : 4




Q.17 Select the option that expresses the given sentence in passive voice.

The judge found the prisoner guilty.

Ans X 1. The judge was found guilty by the prisoner.

25 2. The prisoner had been found guilty by the judge.
% 3. The prisoner has been found guilty by the judge
</ 4. The prisoner was found guilty by the judge.

Question ID : 65497844361
Status : Answered
Chosen Option : 4

Q.18 Select the option that can be used as a one-word substitute for the given group of
words.

Drawings or writing on a wall in a public place
Ans 7 1. Graffiti

25 2. Caricature
X 3. Collage
5 4. Portrait

Question ID : 65497843673
Status : Answered
Chosen Option : 4

Q.19 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. Firstly, it provides air for respiration, serves the sense of smell and conditions the
air by filtering, warming and moistening it.
B. The nose is the prominent structure between the eyes that serves as the entrance to

the respiratory tract.

C. For inhalation it has two cavities, separated from one another by a wall

of cartilage called the septum.

D. Apart from filtering the air, it also cleans itself of foreign debris extracted from

inhalations.
Ans 7 1.BADC

X 2.DBCA
2 3. BACD
< 4. ACDB

Question ID : 65497844372
Status : Answered
Chosen Option : 1

Q.20 Select the most appropriate ANTONYM of the given word.
Obscure
Ans X 1. Veiled
25 2. Cloudy
</ 3. Apparent
< 4. Blurred

Question ID : 65497842052
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The camel and the fox were very good friends and very good thieves. One day, the two
friends (1) to cross the river so that they could travel to a (2) farm to steal
food. The small fox (3) swim, so the camel said to his friend, ‘Climb (4) onto
my back and | will swim across the (5) '

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1. will decide

< 2. are decide
«/ 3. decided
5 4. deciding

Question ID : 65497843657
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The camel and the fox were very good friends and very good thieves. One day, the two
friends (1) to cross the river so that they could travel to a (2) farm to steal
food. The small fox (3) swim, so the camel said to his friend, ‘Climb (4) onto
my back and | will swim across the (5) ’

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.nearly

/' 2. nearby
25 3. nearest
25 4. near

Question ID : 65497843658
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The camel and the fox were very good friends and very good thieves. One day, the two
friends (1) to cross the river so that they could travel to a (2) farm to steal
food. The small fox (3) swim, so the camel said to his friend, ‘Climb (4) onto
my back and | will swim across the (5) S

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans X 1.oughtto

< 2. may not
/< 3. might
</ 4. could not

Question ID : 65497843659
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The camel and the fox were very good friends and very good thieves. One day, the two
friends (1) to cross the river so that they could travel to a (2) farm to steal
food. The small fox (3) swim, so the camel said to his friend, ‘Climb (4) onto
my back and | will swim across the (5) '

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans X 1.over

X 2. above
< 3. across

W/ 4.up

Question ID : 65497843660
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The camel and the fox were very good friends and very good thieves. One day, the two
friends (1) to cross the river so that they could travel to a (2) farm to steal
food. The small fox (3) swim, so the camel said to his friend, ‘Climb (4) onto
my back and | will swim across the (5) ’

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans X 1.ocean

W/ 2. river

< 3. sea
25 4. lake

Question ID : 65497843661
Status : Answered
Chosen Option : 2




